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1. De not open thiz Booklet usntil you are told to do 0.
2. Questions 1 - 30 are to be doae on the OAS provided.
3. Resd carefully the instructions given at the beginning
of each part of the Bookiet.
4. Do not waste time. If a question is difficult for you,
20 on to the next one.
5. Check your agswers thoroughly and make sure you
attempt every guestion.
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ection A 3 g eotions X 3 maxls = 52
Choose the most switable answer shade its number in the OAS provided.

1. Inthe water cycle, after water is remraed to Earth, it stasts to

. ¢) boil

- (2) condense
J) evaporate
(A) freeze

2. Water polluted by soil becomes cloudy. This causes the water planis 1o die due 10 the
lack of .

) water

‘9 oxygen
“_) sunlight

) nutrieats

3 The low chart below describes a type of gas.

Stant

v
Is i1 present in

i Yes ﬁs 1t required Is itused by N
the atr around es o biz:m o Yes | plants to make o - N
ue? J ' "] food?

What gps is represented by A?

#) Oxygen

) Nitrogen

B) Hydrogen

{4 Carbon dioxide

4, Look at the diagram shown below. T

lce cube
water

4 S - =32

An ice cube was lefi on a table and after some time, it melted. It showed a change in

W) taste
2) state
M colonr

{47 substance

#s




The following statements describe a matter.

A: 1t occupies space.
B: It has no definite shape.
C: It has a definite volume.

Which one of the following fits the description of statements A, B and C?

/M oil

{2) Marble

(3] Nitrogen

uf Water vapour

Which one of the following parts of a plant protects the seeds?

Vo7 " %

(3) (4)

1s a gas produced by all living things during respiration.

,0[/) Oxygen

) Hydrogen

£3) Niwogen

{A) Carbon dioxide

Which of the following processes are important for the water cycle Lo take place?

A: Evaporation
B: Condenasation
C: Freezing
D: Melting

‘(;lg A only
B only
%A and B only

C and D only

Our body is made up of different sysiems. The system moves
blood ali around the body.

) skeletal

[2) muscular

3) respirstory
circulatory

&3



10,

11.

12.

13.

14.

The number of heartbeats of 2 persom i affiscted by his _

A: age
B: race

C: gender

.D: activity

(M) A only
Z) A and D only
A, B and C only
) A, B, CasdD

Look at the picture to the nght.
Which statement is true in relation to the picture?

A A, B, C and D are all maner.
A, B and C are mauner while D is not.
#) A, C and D arec matier while B is not.
£#4) A and C are matter while B and D are not.

The diagram below shows the water cycle.
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Each arrow represents a stage in the water cycle. At which stage is there a change
from the gaseous state to the liquid state ?

A A

¥) R

¥ C

w D

In the circulatory system, the — _.____connect artenes to veins.
) cells

12) tubes

B joims

) capillanies !

A deer is hunted and eaten by a lion, The energy from the

¢) bon is transferred 1o the deer
£2) deer is tansferred to the lion
deer 55 transferred to the Sun
deer is transferred to the surrounding

3
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15..

16.

17.

18.

20.

Which one of the following contains the least amoum of oxygen?

¥ Blood fowing from the heart.
{21 Blood flowing towards the brain.

. 18) Blood flowing lowards the hungs.

. ﬂl)' Blood flowing away from the Jungs.

The skeletal system is important (o us in many ways. One of the functions of the
skeleton is o .

¥ move the body
/Z) give us strength
3) protect the body
A) support the bady

The diagram below shows tiny wbes in a stem. Which of the statements about the
functions of the tubes are correct?

tube

A: They help to hold the stem upright,

B: Food made in the jeaves is stored here.
C: They cany food made in the leaves to other parts of the plants.

D: They transport water and minera] salts from the roots 10 other parts of the planis.

(&) A and B only
2) C and D only
2, B, C and D only
ﬂ)’A,B,CandD

The is a muscle which movcs to allow for the expansion and
contraction of the lungs. -

{) heart

3 air sacs

£3) rib cage
73) diaphragm

Which part of the skeletal system supports the body in an upright position?
(¥ Hip bone
Ley bone
-43) Arm bore
#4) Backbone

The function of the siem i plants i2g to ___

&) protect the seed
.2) bold the plant upright
8} store food for the plant
hold the plant firmly 1o the ground

—— "
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22.

26.

Which of the following shows how food 1s madc in the leaves.

1 oxygen + water ——> sugar
Z) oxygen + sugar —» starch
37 carbon dioxide + waler ———» sugar
#Y carbon dioxide + sugar ——  starch

Onc of the orguans in the digestive system is the
heart

{
(,3% brain
lungs

4) small intestine

The blood vessels that carry oxvgen-nch bload from the heart 1o all pants of the
body are called ___

arlenes
Z) air sacs
veins

) capillaries

Muscles are used when we

: think

smile

chew food

: blink our eyes

(F) Cand D only
(Z) B and C only
A) 8, Cand D only
@) A,B,Cand D

COW»>

As Mrs. Tan was chopping some vegetables, she accidentally cut her finger. She
started bleeding because .

her skin tore
she was unhealthy
[3’5 her ltnger bone was broken
(A} some blood vessels in her Gnger were cut

Which ene of the following stalements about encrgy is false?

? Energy is needed to do work.
)

Energy is not a type of matier.
;(? Energy exists only in one form.
) Living things get energy from food.

N
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all the questiaas fu the spaee pravided.
27, Refer to the classification table below. Fill in each box with the correct form of emergy. (2 m)

Ans

E-’ergy W
B b)
-Used by planys 10 make food -Enables water to change state
-Allows man and apimals to see -Keeps living thangs warm

28.  Smudy the diagram below and fill in the boxes with either gaing heat or loses heat. 2 m)

a) ' ‘ b)
T L
ice water steam

la——

<k
@

c) " d)
29a) Al living things need energy. Where do plants get energy to make food” (1 m)
b) Where do camivores get their eoergy? (1 m)

30. Karen was involved in a zerious sccident which caused her rib cage to be completely
damaged.

a)  Which two organs in her body are Likely 0 be most affected? - (2m)

1 -

b) If she also suffered from head injuries, which pa: of the skeletal svsiem was affected? (1 m)

e




31.  Suuly the graphs balow carefully.

Graph A
No. of Ne. ot

Jeortibeats hearioatx
smer My \ P i

Thno mn minutes

No "
No. of o o

hsa"maats -——\—/-—— iwortbeais
por msn OO min

Grapn B

Thme N IMmnenes

Timee in MNnues Timeo w1 rrunwios

a) Graph_____ __ shows the correct change in & person’s heart rate during exercise. (1 m)

b) Givu o reason T your answer In (a) above. (2 m)

(1 m)

c) A person’s heart will only stop beating when he is -

32.  The graph below shows the munber of fish in four rivers A, B, C and D over a period of time.

No.dﬂ;\////\
. - . .- B

_______

Time

a) Whickh river, A, B, C or D in the graph-above is the most polluted? (1 m)

b) Give two causes of water poliution.

@)

(1)




335.).

b)

b)

35a)

b)

The diagram delow shows the cross section of a siem. A and B erc tubes found in the stem.
Fill in the boxes with A or B. (2 m)

i) Thess tubes carry food.

The tubes that carry water are called _ . (1 m)

Look at the picture of the anima) below.

What is X? (1 m)
What is the function of X? (2m)
Name another animal that uses X for the same function? (1 m)
Why is the Sup imporstant in the water cycle? {1 m)

P

A reservoir is 2 man-made structure built to eollect rainwater. Name 2 namral water bodjes
ore 13 igcollected. ' (2 m)

()
(i)

10




36. The diagram below shows the circulation of bleod in the hassan body.

NG |
»
\ heart ‘
- B
‘ ald
X ‘:ﬂ !
a) Draw 2 more arrows to complete the diagram. (2m)
b) State ene difference between the blood flowing io A and that flowing in B. (1 m)
37.  Fill in the'boxes with the correct wordb, o (2 m)
oxygen carbon dioxide water
sunlight  chlosophyll food.
Plants

take in
2) LS
l — .
and give out in the presenoe of
¢ d) j
whea théryﬁ
photosynthegise

N

57



38a).

b)

39.

a)

b)

Muscles often work n pairs, when one mascle coniracts, the othes relaxes. The diagram
below shows a person lifting a bostle. Fill in the blanks with either coatract or reiax. (2 m)

i)

1)

What type of joint is found on the elbow? (1m)

John set up ar experiment as shown below. The two candles are of the same type, size and
Jength at the start of the experiment.

4

A B8
Which candle will b4 longer afrer half an hour? () m)
Give a reason for your answer in (a). . (2 m)

John set up another experiment and found that the flame went out after a short time. He
deduced that the snail was giving off carbon dioxide.

How will he be able to confirm his deduction? (1 m)
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1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)
13)
14)
15)
16)
17)
18)
21)
22)
23)
24)
25)

27)
28)

29)

30)

31)

32)

33)
34)

35)

36)

37)

38)

39)

a) 2ight b) heat
a) gain®heat b) gain)heat
c) losedheat d) losejheat

a) Plants get their energy to make food from
the sun,

b) They get their energy from the food they eat.
a) Heart and lungs b) Skull

a) D

b) The heart will beat faster during exercise to
pump more food and oxygen to the muscles.

c) dead.
a) River D
b) i) Dumping of untreated sewage into the water.

ii) Dumping of rubbish into the river.

a) i) A ii) B b) Xylem tubes
a) Blowhole b) To help them breathe,.
¢) The whale

a) Enable the water to change state,

b) i) Lakes ii) Rivers

a) | Il b) Blood flowing in A is

rich in carbon dioxide

(;E:[ while blood flowing in

B is rich in oxygen.

a) carbon dioxide b) food c) oxygen
d) sunlight

a) i) relax ii) contract
b) It is a hinge joint.
a) B

b) B will be extinguished faster due to B having
less oxygen.

¢) By having a control experiment with only a
candle but no snail.

] b/ -
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